Hamilton County Humane Society - All Things Carmel Post Closure Donations

160	Dog Bags	\$4.50	\$720.00	
30	Balls	\$1.50	\$45.00	
24	Frisbees	\$10.00	\$240.00	
214			\$1,005.00	RETAIL
			\$502.50	WHOLESALE

Carmel Clay Library Foundation - All Things Carmel Post Closure Donations

1	As It Lies	\$14.95	\$14.95	
2	Mr. Confidential	\$22.00	\$44.00	
12	Civic Theater Poster	\$22.00	\$264.00]
22	BB Shirt: Indiana Icon	\$20.00	\$440.00	
5	Gershwin and Me	\$25.00	\$125.00	
14	Soul of Civility	\$19.00	\$266.00	
87	Magnets	\$8.95	\$778.65	
67	Tiny Jotter	\$4.95	\$331.65	
1	By Imtation Only	\$27.99	\$27.99	
1	10 Essential Principles	\$24.99	\$24.99	
1	19 Stars of Indiana	\$24.99	\$24.99	
10	Crosswords	\$24.99	\$249.90	
6	Back to Bullet Proof	\$22.00	\$132.00	
229			\$2,724.12	Retail
		_	\$1,362.06	Wholesale

Congreation Beth Shalom - Post All Things Carmel Donations

Matchboxes	\$3.50	\$49.00	
Rolling Pins	\$14.99	\$1,199.20	
Jewelry	\$19.95	\$19.95	
		\$1,268.15	RETAIL
		\$634.08	WHOLESALE
	Rolling Pins Jewelry	Rolling Pins \$14.99 Jewelry \$19.95	Rolling Pins \$14.99 \$1,199.20 Jewelry \$19.95 \$19.95 \$1,268.15

2 Decoration Ribbon	\$9.99	\$19.98
1 Snowblanket	\$12.99	\$12.99
9 Sleep Masks	\$8.99	\$80.91
1 Fourth of July Table Runner	\$7.50	\$7.50
1 Tree Skirt	\$12.99	\$12.99
31 Arbor Day Bag	\$31.00	\$961.00
5 Felt Hat	\$19.99	\$99.95
2 Fourth of July Stocking Cap	\$14.99	\$29.98
4 Misc Fashion Scarf	\$4.99	\$19.96
2 Jeweled Knitted Headband	\$14.99	\$29.98
5 Trucker Hat	\$20.00	\$100.00
1 Bandeau	\$3.99	\$3.99
2 Misc Bracelet	\$15.00	\$30.00
35 Ave 9 Misc Bracelet	\$7.49	\$262.15
16 Ave 9 Misc Bracelet	\$10.99	\$175.84
1 Ave 9 Misc Bracelet	\$17.00	\$17.00
1 Ave 9 Misc Bracelet	\$14.99	\$14.99
1 Misc Earring	\$11.95	\$11.95
4 Visors	\$19.99	\$79.96
2 Trucker Hat	\$14.99	\$29.98
8 Fuzzy Trucker Hat	\$15.99	\$127.92
40 Wine Openers	\$5.00	\$200.00
4 Wind Chime	\$9.00	\$36.00
6 Misc Necklace	\$20.00	\$120.00
12 Freedom Trucker Hat	\$11.95	\$143.40
4 Furry Bag	\$21.99	\$87.96
5 Hat Glove Set	\$24.99	\$124.95
1 Reindeer Hat	\$22.99	\$22.99
1 Wine Bottle Cover	\$12.25	\$12.25
1 Hat Glove Set	\$26.99	\$26.99
3 Woven Blanket	\$23.99	\$71.97
1 Pink Knit Hat	\$19.99	\$19.99
6 Shop Local Bag	\$14.99	\$89.94
4 Trucker Hat: Coffee/Wine	\$16.95	\$67.80
31 Kitchen Towel		
	\$12.00	\$372.00
7 Set of Napkins	\$4.00	\$28.00
3 Trick or Treat Yourself 4 Black and White Kitchen Towel	\$4.00	\$12.00
	\$4.00	\$16.00
2 Leopard Poncho	\$28.00	\$56.00
1 Red Poncho	\$31.00	\$31.00
2 Animal Cape	\$29.99	\$59.98
4 Sweater Vest	\$28.99	\$115.96
2 Cover Up	\$14.99	\$29.98
6 Table Runner	\$19.99	\$119.94
5 Cow Kitchen Towel	\$12.00	\$60.00
2 Sunflower Kitchen Towel	\$12.00	\$24.00
14 Daily Planner Small	\$14.99	\$209.86
2 Easter Pillow	\$20.00	\$40.00
1 Harvest Pillow	\$21.00	\$21.00
2 Sawyer Mill Pillow	\$16.00	\$32.00
2 Love Lives Here Pillow	\$20.00	\$40.00
2 Always & Forever Pillow	\$20.00	\$40.00
2 Washington Pillow	\$20.00	\$40.00
2 Welcome to Our Patch Pillow	\$20.00	\$40.00

4 Pillow Small	\$10.00	\$40.00
2 Vase	\$22.00	\$44.00
2 Purple Scarf	\$12.00	\$24.00
Purse	\$16.00	
Purse Camo	\$21.00	
Purse Fadivo	\$21.99	
Purse Organizer	\$14.99	
Purse Red/Gry Neck 153110	\$23.99 \$22.00	
Neck 153110	\$17.00	
Neck 137307	\$18.00	
Neck 191766	\$15.00	-
326 Neck 23408	\$18.00	
Neck 28555	\$18.00	
Neck 321949	\$15.00	
Neck 41 5536	\$20.00	
Neck NF20WS	\$12.00	
Neck NVPS	\$16.00	
Neck/Ear 022476	\$20.00	
Neck/Ear 023000	\$24.00	
Neck/Ear 023041	\$18.00	-
Neck/Ear 023045	\$16.00	
Neck/Ear 1083	\$16.00	
Neck/Ear 1194	\$16.00	
Neck/Ear 415617	\$18.00	
Necklace 340291	\$30.00	
Necklace MK 10	\$10.00	
Necklace MK 15	\$15.00	
Necklace MK 16	\$16.00	
Necklace MK 18	\$18.00	
Necklace MK 22	\$22.00	
Necklace MK 24	\$24.00	
Orange/yellow Bracelet Set	\$6.25	
Witch Hat Earring	\$6.99	
Ear E20HC	\$16.00	
Ear EF20MM	\$15.00	
Ear EF20WS	\$15.00	
Ear EGBR	\$12.00	
Pearl Neck	\$15.00	
Earring 6150	\$15.00	
Earring 02 2518	\$15.00	
Earring 022973	\$15.00	
Earring 03 1022	\$15.00	
Earring 213559	\$10.00	
Earring 32 3816	\$18.00	
Earring 323735	\$12.00	
Earring 343642	\$12.00	
Earring 41 5159	\$15.00	
Earring 44802	\$10.00	
Earring MK 10	\$10.00	
Earring MK 12	\$12.00	
Earring MK 15	\$15.00	
Eyre Blk/Red Neck	\$18.00	
Gold/Animal Neck/Ear	\$20.00	
Grey Wood Earrings	\$10.00	

	Black Heart Neccklace	\$20.00	
	Blue/Whi/Gold Neck	\$20.00	
	Retro Circle Roundabout Long-Sleeved Tee	\$25.00	
	Retro Circle Roundabout Long-Sleeved Tee	\$25.00	
	Retro Circle Roundabout Long-Sleeved Tee	\$27.00	
	Retro Circle Roundabout Long-Sleeved Tee	\$25.00	
	Retro Circle Roundabout Long-Sleeved Tee	\$25.00	
	Retro Circle Roundabout Long-Sleeved Tee	\$29.00	
	Retro Circle Roundabout Long-Sleeved Tee	\$25.00	
	Retro Circle Roundabout Long-Sleeved Tee	\$25.00	
	Retro Circle Roundabout Long-Sleeved Tee	\$27.00	
	Retro Circle Roundabout Long-Sleeved Tee	\$29.00	
	Retro Circle Roundabout Short-Sleeved Tee	\$23.00	
	Retro Circle Roundabout Short-Sleeved Tee	\$21.00	
	Retro Circle Roundabout Short-Sleeved Tee	\$23.00	
	Retro Circle Roundabout Short-Sleeved Tee	\$25.00	
	Retro Circle Roundabout Short-Sleeved Tee	\$21.00	
	Retro Circle Roundabout Short-Sleeved Tee	\$25.00	
	Retro Circle Roundabout Short-Sleeved Tee	\$23.00	
	Retro Circle Roundabout Short-Sleeved Tee	\$25.00	
	Bracelet 1066	\$14.00	
	Bracelet 229911	\$20.00	
-	Bracelet 322247	\$17.00	
	Bracelet 6072	\$17.00	
	Bracelet 6075	\$12.00	
	Bracelet MK 15	\$12.00	
		\$20.00	
	Brown Jangle Neck Brown Shell Necklace		
		\$16.00	
	Brown Wood Neck	\$13.00	
	Brown Wooden Beads	\$30.00	
	Clutch Bag	\$12.98	
	Earring 6150	\$15.00	
	Earring 02 2518	\$15.00	
	Earring 022973	\$15.00	
	Earring 03 1022	\$15.00	
	Earring 213559	\$10.00	
	Earring 32 3816	\$18.00	
	Earring 323735	\$12.00	
	Earring 343642	\$12.00	
	Earring 41 5159	\$15.00	
	Earring 44802	\$10.00	
	Earring MK 10	\$10.00	,
	Earring MK 12	\$12.00	
	Earring MK 15	\$15.00	
	Eyre Blk/Red Neck	\$18.00	
	Gold/Animal Neck/Ear	\$20.00	4
	Grey Wood Earrings	\$10.00	
	Jewelry8	\$8.00	
	Leap Poncho w/Fringe	\$28.00	
	Lg Blk/Gold Neck	\$10.00	
	Lg Blk/Yel Neck	\$14.00	(1) (1) (1) (1) (1) (1) (1) (1) (1) (1)
	Jewelry8	\$8.00	
	Love Ash Gold/Brown Neck	\$25.00	
	Love Ash White Rock Neck	\$15.00	
	Love Ashley Neck	\$26.00	

	Pomina Light Beads Neck	\$20.00		
	32" Copper Neck/Ear	\$13.00		
	Animal Necklace	\$15.00		
	Astral Earring	\$11.95		
	Bracelet Chain	\$18.96		
	Black/Whi Hoop Ear	\$19.99		
4				
			\$4,648.98 R	₹ET/
			\$2,324.49 V	NHO

RETAIL WHOLESALE